
 Mark the mark while switching alternately.

4 5 1 3 6 4 5 2 2 1 2 4 1 5 3 2 6 2 2 5

3 1 5 6 4 6 3 5 3 3 2 6 3 5 2 3 6 5 6 3

6 5 5 1 2 1 6 5 1 5 1 3 2 5 5 3 3 5 1 2

→ 6
3rd paragraph： Same as 1st paragraph. 4th paragraph： Same as 2nd paragraph.

1st paragraph： 5 → 5 2nd paragraph： 6

6 5 5 1 2 1 6 5 1 5 1 3 2 5 5 3 3 5 1 2

1 1 4 2 6 5 3 3 2 5 2 4 5 4 3 3 5 1 3 5

4 5 1 6 2 3 6 4 6 4 5 5 5 1 6 1 4 3 6 2

6 6 4 5 3 2 5 4 4 5 3 5 5 3 1 4 3 4 1 5

4 2 3 4 3 6 1 6 5 6 4 1 6 3 3 2 4 4 4 5

5 4 3 2 5 3 5 4 2 3 3 5 2 3 1 4 5 3 5 1

6 4 6 1 2 5 2 2 5 3 1 5 3 1 4 6 3 6 6 1

1 3 6 2 2 5 2 6 3 6 2 4 6 2 3 6 4 6 4 5


